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Calculating Slope Name:
Find the Slope. Answers
Ex) -6x+2y=-18 EX) 5x-9y=-72 6
2y = 6x - 18 -9y = -BX - 72 Ex. 2
y=%x-9 y=7Xx+8 5
Ex. 9
1) -Bx+y=+9 2) Ix-y=-4 L
2
3.
3) 6x-y=-6 4) -6x+6y=54
4,
5.
6.
5 -2x-3y=27 6) -8x-y=+4
7.
8.
7) 3x+y=-2 8) 6x+9y=-45 o
10.
11.
9) 8x+y=-6 10) -6x-9y=9
12.
13.
11) 8x+5y=30 12) -4x-8y=48 1
13) ox-6y=-18 14) 3x-2y=8
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Calculating Slope Name: Answer Key
Find the Slope. Answers
EX) -6x+2y=-18 EX) 5x-9y=-72 6
2y = 6x - 18 -9y = -BX - 72 Ex. 2
y=7x-9 y=7Xx+8 5
Ex. 9
5
1) -Bx+y=+9 2) Ix-y=-4 L L
y=5x+9 y=1x-4 y
y=-1x +4 2. 1
-6
3. 1
3) 6x-y=-6 4) -6x+6y=54 6
y=6x-6 6y = 6x + 54 4 S
=-6X + 6 =%x+9 -2
/ y=7e 5. 3
-8
6. 1
5 -2x-3y=27 6) -8x-y=+4
By =2x + 27 -y=8x+4 , 31
y:_2/3)(_9 y:-8x-4 .
-6
8. 9
7)) 3x+y=-2 8) 6x+9y=-45 o 81
y=3x-2 Qy = -6x - 45 '
_ 6 -6
y=-/xX-5 10. 9
-8
11. 5
9 -8x+y=-6 10) -6x-9y=9
-4
y=8x-6 9y =6x+9
Jo -1 12. 8
9
13. 6
11) gx + 5y =30 12) _4x -8y =48 " 7,
5y =-8x + 30 -8y =4x + 48
y=-7x+6 y=-7x-6
13) ox-6y=-18 14) 3x-2y=8
-6y =-9x - 18 -2y =-3x+ 8
y=7x+3 y=7x-4
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